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Case A above. On 1/1/2025, the equipment Was sold

Assume the figures you have from
the needed joumal entry for this transaction.

ash. Prepare

Case C-
for $ 13.000 ¢

e.On 1/ 1/2025, the equipment Was

Case D- Assume the figures you have in Case A aboV
exchanged for new equipment - The fair market value for the old truck was 17,000. Cash of §
the new equipment. Prepare the needed journal entry for this transaction.

18,000 was paid to get
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_Past experience indicates that 5%

y sells televisions with a 2-year warranty

Comparn : g = fcats
A. :;: Id;ae Unit: sold will be returned during the warranty penod for repairs. The average co
anty 1S estimate S

of repairs under warT: d to be ﬂi per unit. Durin: o =

15,000 units for an average price of $400 per unit. During the year, repairs.
65 units. Prepare o record the estimates

the journal entry t

‘Account title

2022, Sali sport Company so

B. In September,
Each ticket was for $1,200. The tickets per

first round for Qatar’s National team. Qatar
and lost 0-2 to Ecuador. Prepare the journal

Account title



¥ /A
>

A

tiof]
Jues ami. <
-'n.’.‘f- San i
AN i Tihiey hac
© Capital accounts at the January I;

2017 of $40,000 for Ahmad, ¢

<0000 for Barhoom 50000 for Sami and

partnership net income for year ended December 31,2017 w $55.0¢
> as $55.000).
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snership agreement provides that:

The >

A salary 67830000 10 A h]_nm and $30.000 1, Barhoom. N sajary for Sami
All partners are 1o receive interest of 1% o beginning capit to . OF Sami.
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Question 4 (10 Points): Matching

Match the following concepts with the statements given below them:

Units of production method
Current portion of a long term debt

. D | Contingent liabilities
__E [Fair values or agreed upon values

1~ Should be recorded and disclosed only when they are probable. ©

2- Usually allocates higher depreciation values in early years of asset’s life. A
3 Are used when noncash assets are invested into a partnership.4¢ €

;1- Are considered natural resources. %)

G
7

__A__Declining balance method F [ Trademarks
__ B Customer advances G | Copyrights
C__ | Accounting estimates H | Oil wells

I
J

Are also called unearned revenues, (3
5 ese va_lues can be revised. C
Te considered current liabilities. 3
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L cused to show the amount of cost expiration of natural resources

1 a $30.000. 3 months, 5% interest-bearing note payable matures, total payment will
, total payment
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1 The Crafter Company had the following assets and liabilities as of December 31, 2012:

ASSETS

Cash $35,000

Accounts receivable 15,000

Inventory 30,000

Equipment 50,000

LIABILITIES

Current portion of long-term debt 10,000

Accounts payable 2,000
25,000

Long-term debt

Determine the current ratio for the end of the year (rounded to one decimal point).

a 35
b. 13.0
¢ 42
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/ ; capital expenditure results in a debi to

1 asset account
¢ :1 ull’ml account
P iability account
} “n expense account
” (‘a.\h collected from customers at AL-Huda Gaz station duri
which includes a sales tax of 5%. What is the amount o;' ’:ql(‘;‘”l“g e Ol S
sales taxes payable? |

pinar Company purchases a new delivery truck for $45.000 The sales ta $2,00
,000. Xes are
of the truck for $1 ,200. The truck license is $?'2'(1)-.h'.l:'he

-
l/(;zo of the company is paiqted on the side
sruck undergoes safety testing for $220. What does Pinar record as the cost of th truck?

e new truck?

2. $48.540.
(B) $48.420.
c. $47.000.
d. $46.420.

8. An asset was purchased for $120,000 on January 1, 2010 and originally estimated to have a
useful life of 10 years with a residual value of $10,000. At the beginning of 2012, it was

determined that the remaining useful life of the asset was only 4 years with a residual value of

$2.000. Calculate the 2012 depreciation expense using the revised amounts and straight line

method.
@ $24.000
b. $11,000
c. $25,000
d. $24,500
Good Luck
6




